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Section I - 15 marks

Attempt Questions 1 - 15

Allow about 25 minutes for this section

Use the multiple choice answer sheet for Questions | - 15

What is the solution to the equation % =3—x

(B) x = (D) x = =9

Lauren and Andy work in the same restaurant, they each earned $576 last week. Andy
warked 4 more hours than Lauren, and was paid time-and-a-half for these extra hours. If
Lauren is paid $16/hour, find Andy’s hourly pay rate?

(A) $12

(C) $14.40 (D) $24

A football match begins at 8:00pm Friday local time in New Yaork, which has a Coordinated
Universal Time (UTC) of —5. Rowan lives in Perth (UTC +8), if he wants to watch the match,
what time will he need to turn on his television?

(A) 9:00am Friday (B) 7:00am Saturday
{C) 9:00pm Saturday M(J_OéFﬁNS”a"fﬁrday:b

At a party Charlotte begins drinking at 6:45pm and has 7 standard drinks before she stops
drinking at 11:15pm. if Charlotte has a weight of 58kg, calculate her BAC to 3 decimal

places using the formula:
7 AT

10N-7.5H
5.5M5%%

BAC remare =

where N = number of standard drinks

H = number of hours drinking

M = Mass in kg

(A) 0.024 (B) 0.090

(C) 0.113 @
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Calculate the interquartile range for the following data set

12, 23, 31, 46, 47;’53, 55, 65, 66, 70

(ﬁ3€:> (B) 58

(531 (D) 50

Elise is playing in a chess tournament, in each match she plays, Elise has a 40% chance of
winning. Which of the following, calculates the probability she will win exactly one of the
next 2 matches?

{A) 0.4 (B) 0.4 X 0.6

(C) (0.4 X 0.6)? A MO4§3§;£:::>

A network of four points A, B, C and D is drawn below

B C

A D

Which of the following diagrams is NOT an equivalent graph of the network above?
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8  This graph shows the growth of a $20 000 investment over a 6 year period
Amount $
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What was the annual rate of interest paid on the investment?

(A) 1.5% ~1(B) 7.5%
(C) 7.31% (D) 5.5%

9 Based on the equation P = -3—2—
Q

which of the following correctly expresses Q as the subject of the equation

6

36
(A 0=3 ®) Q=3

P
@ o) 0=

10 A 400 W desktop computer is run on average for 4 hours per day. If electricity is charged at
$0.18/kWh, calculate the electricity cost of running the computer per year.

(A) $584 | m

(C) $26.28 (D) $105120

11 A university exam has its marks normally distributed with a mean of 70 and standard
deviation of 8. What percentage of students scored between 78 and 94?

(B) 99.7%
(C) 16% (D) 13.5%
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